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Choose the best answer (Put a tick mark) 

Part A: English Grammar and Vocabulary [Marks 7*2=14] 

1. Today is a great day ___________ we are traveling together after a long time. 

(A) not that (B) since (C) but (D) and 

2. Hello, Marian. I haven’t seen you for ____________.  

(A) many ages (B) ages (C) few ages (D) age  

3. In today’s class we will ____________ the history of Bangladesh. 

(A) discuss (B) discuss about (C) sing (D) catch 

4. The River Karnaphuli ______________ into the Bay of Bengal.  

(A) flow (B) flowing (C) flowed (D) flows  

5. I am looking forward to _______________ you soon. 

(A)  see (B) meeting (C) coming (D) know  

6. Sanjida ________________while driving.  

(A) had short of octane (B) run short of octane (C) ran out of octane (D) running out of 
octane  

7. My laptop is _______________, so I cannot work.  

(A) working (B) open (C) broken (D) playing 

Part B: Quantitative Reasoning [Marks 8*2=16] 

8. If (a – b) (a + b) = 7 × 13, then which one of the following pairs could be the values of 
a and b, respectively?  

(A) 7, 13 (B) 5, 15 (C) -3, -10 (D) 10, 3  

9. Find the height of a triangle whose area = 420 cm² and base = 60 cm  



(A) 12 (B) 13(C) 8 (D) 14  

10. An angle whose value is ____, is called complete angle. 
 
(A) 180° (B) 240° (C) 360° (D) none of the above   

11. Consider ΔABD such that angle ADB = 20° and C is a point on BD such that 
AB=AC and CD=CA. Then the measure of angle ABC is 
 
(A) 30°  (B) 40° (C) 45°  (D) 60°  

12. A, B and C can complete a piece of work in 14, 6 and 12 days respectively. Working 
together, they will complete the work in 
 
(A) 19/9 days (B) 27 days (C) 28/9 days (D) 25/8 days 

13. If Px = Qy = Rz  and Q/P = R/Q, then 2z/(x+z) = ? 

(A) y/z (B) y/x (C) x/y (D) z/y 

14. A shopkeeper purchases 15 mangoes for BDT 10 and sells them at 10 mangoes for 
BDT 15. Thus, he earns a profit of 
 
(A) 50% (B) 75% (C) 80% (D) 125%  

15. If a certain sum of money can become 5 times of its principal in 10 years, then the 
rate of interest is 
 
(A) 20% (B) 30% (C) 40% (D) 50%  

Part C: General Knowledge [Marks 5*2=10] 

16. How many rings are there in the Olympic Logo? 

(A) 3 (B) 5 (C) 7 (D) 9 

17. Which province is suspected as the birth place of corona virus? 

 (A) Shenzhen (B) Guangzhou (C) Hubei (D) Beijing 

18. Where is Shat Gombuj Mosque located? 

(A) Paharpur (B) Moinamoti (C) Bagerhat (D) Dinajpur 

19. What is the capital city of the United States of America? 

(A) New York (B) Washington D. C. (C) White House (D) Boston 



20. Who was the first prime minister of Bangladesh? 

(A) Sheikh Mujibur Rahman (B) Syed Nazrul Islam (C) Tajuddin Ahmad (D) Abdul 
Hamid 

 

 

 

Part D: Comprehensive Writing [Marks 10] 

Write an essay on how have you spent the lockdown periods during the COVID-19 
pandemic? 

 


